PR IODOMO, LR 4 DMO, B3AMEL TWT, #i4 AB
1T 2 HoL@mERTH 5,

%5y ABIC# LT, 21M0,,0,I10453 5% 0,,
#5y ABICHE LT, 2110,,0,lcsM5 511%0,,
PUF B O, O, - 55 2 5.,

Zokx, M0,0,,0;, - T TOmEMEM S, K L,

) = FhHoEEry AB=\(r+r) (-1, =2Jtr, Th 5.
Wk, MO, 0¥ELEL LB,
M0O,0,,0,i22onT, MO, &5 ABO#E: A CL35E AC=2,\nr,, CB=2r, Ths,

ZNB% AB=AC+CBIZfbAT 2L 2)nr, =2./nr, +2)/nr,

[k, M0, 0,0,z T ir_irJr\/lF:\/Z?Jr\/lr—
4 1 3 1 2
1 1 1 3 1

Ftkiz, MO,0,,0,ic2nT + = +

v NN NN RN

FEE, 170,0, 1,0, (25T \/1_ 2.1 @
r-n 2
1 2 1 2n-1

ZIT, =9n=4THO00 —=——+—F7=
Jr, f Ja 6

6 2
r = n=345,
(5] ¢ )
S. =1 § 4+7Z' 9 4+7Z' § 4+...—647z- £+i+i+i+... — £+i
© 5 7 9 - 1 3 57 13
1 1 1 7
IIZTC I+t +=4(4) = —T&b%ﬂb% (7 2)
2" 3 4
1 1 1 1 1 1 1 1 1 1 1
1—4+§+§+F+---= l+?+§+z+--- — ?+F+§+8_4+m

1 1 1 1 1 1 1
= 1+?+§+F+--- o l+§+¥+F+ -

T90 16 90 96




LoT

4
S, =6 (% - %] %(277# —2624).-- (%)

=9.496183091

1 1

(1) wu{%} e L x%{—} DEEHBIC I B i, NZ30L X
rn

N

L4
1 _ 1,1 g ton-2 1
oo e NN AN

(#2) J—=rDE—2% £(n)= 1+i+i+ 2O T

2 3
72'2 72'4
C(Z)Z—,C(4)=—00)§Eﬁﬂ
3 5 7
s, 100=3) L gsc o sinx=x- X XX ehann (545 —m),
7 3 5 7
i S 2 S 'Y
fx)=x- 2 Ty 0
E7-, HERF(X)=00MiF  x=0,+£1+2,43,---
£-oT

- @-:—1@—:—2}@—;—3--

1 1 s (1 1 1 1 1
\Metgt e gtretr et e e e et

=x- (x> += ( (2)* - (4)))(5_... @
O , OQDFEELET S &
(@)= Leor @)

4

S C(2)= % C(8)= % (47i)

(2012/1/20

FRE[i])




